
 

 



 

 

POS. CODICE DENOMINAZIONE 
1 00000041 RONDELLA SCHNORR Ø6 
2 00000043 RONDELLA SCHNORR Ø5 
3 00000139 DADO M5  UNI-5588 6S ZINC. 
4 00000140 RONDELLA PIANA Ø5 UNI-6592 ZINC. 
5 00003430 CUSCINETTO INA AXK1528 
6 00003431 ANELLO INA AS 1528 
7 00003905 LEVA SCATTO ART.562-104 M 12 
8 00004214 SPINA CILINDRICA Ø8x20 CEM. 
9 00004360 SPINA ELAST_D6x28_6873 

10 00005102 VITE AUT. TC Ø2,9 x 6,5 ISO7049 
11 00005201 GOMMINO PARACOLPI 
12 00008507 GRAFFA METALLICA FORO 509 DIAM.19 
13 00018290 VTCEI M4x12 
14 00018297 VTCEI M5x12 UNI5931 ZINC. 
15 00018303 VTCEI M6x20 ZINCATA 
16 00018342 VITE TCEI M5X18 UNI 5931 ZINC. 
17 00018426 VITE TSPEI M 8X25 UNI 5933 ZINC. 
18 00018507 DADO M12 UNI-5588 6S ZINC. 
19 00018514 DADO M12 UNI-5589 6S ZINC. 
20 00018523 RONDELLA PIANA  Ø13 UNI-6592 ZINC. 
21 00018810 VITE TE M12x60 UNI-5739 ZINC. 
22 00040512 VITE TCEI M5X20 UNI-5931 ZINC. 
23 00160008 VTSTEI M5x16 UNI5929 ZINC 
24 00171210 VTSTEI M12x60 PC 
25 25404001 GRUPPO MOLLA RITORNO J-B-B 
26 35400104 LEVA POSIZ BRACCIO 
27 35400220 TASSELLO IN NYLON 
28 35400221 ASTA ATTACCO GOMMINO NUOVO 
29 35400222 TASSELLO SUL BRACCIO 
30 35600016 TUBO CHIOCCIOLA BEST 
31 35600102 CAPPELLOTTO BEST960 
32 35600114 TAPPARELLA 960 
33 35616104 BRACCIO BEST 960 
34 43200020 PRIGIONIERO M12x90 
35 45400024 MANIGLIA DI SOLLEVAMENTO 
36 45400026 MOLLA PORTA CAVO 
37 45400027 INDICE POSIZIONAMENTO 
38 45400076 DISTANZIALE BLOCCO BRACCIO 
39 45600013 TARGHETTA GRADI CAPPELLO BEST 
40 45600015 GUIDA BEST 960 
41 45600016 RIGA MILLIMETRATA BEST 960 


